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10.1 問題 5.9 (2)

　

H(z) =
3∑

k=0

hk{z−k + z−(3−k)}

= h0{z0 + z−3} + h1{z−1 + z−2}h2{z−2 + z−1}h3{z−3 + z0}

= h0 + h3 + h1z
−1 + h2z

−1 + h1z
−2 + h2z

−2 + h0z
−3 + h3z

−3

よって z ^ ( � 1 ) z ^ ( � 1 ) z ^ ( � 1 )x(nT) + y(nT)h 0h 0 h 1h 1 h 2h 2 h 3h 3 ++
++

+
+
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10.2 問題 5.14 (1)

10.3 問題 5.14 (2)
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10.4 問題 5.15 (1)

　極は 0.6472 + 0.4702iと 0.6472 − 0.4702i、つまり 1より小さいので安定 　

10.5 問題 5.15 (2)

　極は 1.0112 + 0.7348iと 1.0112 − 0.7348i、つまり 1より大きいので不安定 　

10.6 問題 5.15 (3)

　

H(z) =
1 − z−4

1 − z−1

= 1 + z−1 + z−2 + z−3

インパルス応答が有限なので安定

　

10.7 問題 5.15 (4)

　極が 1なので不安定 　
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